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Model Test One

Part [ Structure and Vocabulary

Section A

Directions:

Beneath each of the following sentences, there are four choices marked A, B, C, and D.
Choose the one that best completes the sentences. Mark your answer on the ANSWER
SHEET by blackening the corresponding letter in the brackets. (5 points)

1., criticize him.

A. Should anyone misbehave in class 33 Anyone should misbehave in class C. If
anyone were misbehaved in class D. Would anyone misbehave in class

2. With the introduction of the electric computer, there are no complicated problems
____can be solved. ' \
A. that B. as C. but D. which

3. Listen to me and work hard at once, you will make tt.
A. and B. then C. but D. or
4, his achievement he earned everyone s respect.

A. Such great was --- that B. So great was -»» which C. So great was -+
that D. Such great was «*- as

5. I'llring you up the minute [ get the news.
A. when B. what C. which D. that

6. We have to go to other places to find a crane, there  no crane here that stands idle.
A.is B. tobe C. being D. having been

7. A panda’s primary activity is sleep, __its waking hours looking for food.
A. itspends B. forspending - C. and it spends D. to spend

8. Coming to herself, she found _ in bed in a hospital.

" A. herlying B. thatshe had been lying C. herself lying D. herself was lying

9. She swim in the afternoon than play basketball.
A. had better B. would rather C. prefersto D. would like

10. [ had Jone __ firmly to a tree in order that he could not run away while I was

asleep.
A. totie B. tobetied C. tie D. tied



Section B

Directions:
Each of the following sentences has four underlined parts marked A, B, C and D. Identi-
fy the part of the sentence that is incorrect and mark your answer on the ANSWER SHEET

by blackening the corresponding letter in the brackets. (5 points)

11.

12.

13.

14.

15.

16.

17.

/ Due to / the strong rays, / this / is impossible for naked eyes / to determine / the

A B C
exact location of a star / close fo / the horizon.
D
There is / no wonder that / many of the members wonder / that who / will deliver
A B
the opening speech since who will / chair / the meeting / has not yet / been decided.
C D
Tom was / frightened / to find that there was only one / other person / left /eX-
A B C
/ cept / himself in this / darkness /.
D
The / studies/ have found that deeply / hold / values and principles are highly
A B
/ resistant / / to change /.
C D
The unit of / measurement / known as a “foot” / has/ originally based on the
A / ‘B
average / size / of the human / foot /.
C D
It was / at the sad news / that / she was/ /ataloss/ /howtodo/.
A B C D
He /-complained to the / boss that the / salesgirl / had to be called / half a dozen
A B C
times / / until / she served him.
D
So impressive was this invention, so difficult was _/Lha_t / to exceed this speed limit,

18.

A
/ that / nearly 3500 years later / when / the first mail vcoach began operating in
B C
England in 1974, /it averaged / a mere ten mph.
D
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19. But if it takes less time / to bring / a new idea to the marketplace, / it/ also takes

A B
less time for / them / to / sweep through the society / .
C D
20. The texture of soil / is determined / by the / size of / grains / or/ particles that
A B C
/ makeup /.
D

Section C
Directions:

Beneath each of the following sentences, there are four choices marked A, B, C, and D.
Choose the one that best completes the sentences. Mark your answer on the ANSWER
SHEET by blackening the corresponding letter in the brackets. (10 points)

21. The biggest computer company in Silicon Vailey has  hundreds of people during
the last few months.
A. declined B. detached C. dismissed D. dispersed

22. To ensure maximal voter participation in a presidential election, thorough planning
and a voter registration __ are usually required.
A. restriction B. encouragement C, investigation D. campaign

23. Our worst fears have proved  after he told us everything about it.
A. hosted B. blessed C. unfounded D. unstable

24. We hoped to be able to get married early this month, but things didn't _ as we
had expected.
A. work out B. comeby C. fillup D. laydown

25. He was such a busy man that after a long delay, he  writing the letter.

/- A. gotaroundto B. looked forwardto C. passedonto D. took up with

26. South Africa’s black majority got its first real ___ ingoverning early last December.

. A.say B. tale €. speech D. remark

27. He was knocked down by the car when he was crossing the road. Many people
nearby theaccident. .
A. watched B. noticed C. glanced D. witnessed

28. The question whether the atom can or cannot split up is known to have interested

many scientists from ancient times.

A. anxious B. curious C. cautious D. conscious
29. She all her life to the welfare of women and children.

A. presented B. rccommended C. contributed D. dedicaled
30. Thank you very much indeed. I really don’t know how I can your kindness.




A. award B. reward C/ afford D. return

31. Itiscertain that Americaﬁ English has very influenced British Engliéh, especially
in the last quarter of the century.
A. extremely B. numerously C. considerably D. excessively

32. In spite of I}iS virtually complete ignorance of the language, he managed to make
himself understood. o
A. onthe whole B. ontheaverage C. asthewhole D. by any means

33. History is a record of mankind; however different historians it differently.

~~A. identify B. indicate C. transiate D. interpret

34. Youshould  what your parents expect of you.

‘A, liveupto B. standupto C. lookupto D. runupto

35. The government  some more money to improving the national transport service.
A. promised B. declared C. requested D. committed

36. They cannot come with us for they havea  of guests tonight.
A. companion B. flock C. company D. head

37. You idle away your precious time. Doesn’t your laziness - your parents ?

 A. ache B. injure C. pain D. wound

38. This area is neither too hot or not too cold. The annual _ of temperature is from
35F to 106F. /
A. limit B. range C. amount D. point '

39. He had hoped to get 120 yuan for his old bike but had to 100 yuan.

"/ A. settlein B. settledown C: settleto D. settle for

40.  , Type A has the advantage of higher speed and Type B the advantage of greater

_ comfort. :

A. By comparison B\./in comparison C. With comparitivable D. In compara-

tive

Part [I Cloze Test

Directions:
For each numbered blank in the following passage, there are four choices marked A, B,
C and D. Choose the best one and mark your answer on the ANSWER SHEET by black-

ening the corresponding letter in the brackets. (10 points)

The traditional wedding vow to stay together “till death us do part” is becoming obsolete
in most western countries as divorce rates continue to rise steadily. In the U.S., for example,
the statistics for 1987 show one divorce for /41 / two marriages; in that year, over a million
couples / 42/ their marriages dissolved. One factor behind the steady rise in divorce rates,
according to sociologists, is the changing /43 / of women. More and more women are con-
tinuing to work after marriage, thus remaining financially independent. Moreover, they are
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becoming less /44 / of husbands who treat them as subordinates. / 45/ important factor is
the gradual relaxation of divorce /46 / in many states. It is now relatively easy to obtain an
uncontested divorce on the / 47/ of irretrievable breakdown of marriage. However, it can
have a shocking effect on their /48 /. It is estimated that one in four American children
/49 / lives with only one parent. Many /50 / children grow up to be emotionally unstable
and unable to cope with the pressures of modern society.

41. A. every B. other C. the D. among

4. A let B. see C. wished D. had

43, A. status B. stall C. stern D. statue

44. A. tolerable B. intolerable \C. tolerant D. intolerant

45. A. So B. Other C, Another D. One

46. A. orders B. laws C. principles D. disciplines

47. A. surfaces B. bottoms C. borders D. grounds

48. A. parents B. kids C. boys D. relatives

49, A. timely B. incidentally C. currently D. instantly

50. A. thousands B. of C. such D. more
Part [II Reading Comprehension

Directions:

Each of the passages below is followed by some questions. For each question there are
four answers marked A, B, C and D. Read the passages carefully and choose the best answer
to each of the questions. Then mark your answer on the ANSWER SHEET by blackening the
corresponding letter in the brackets. (40 points)

Passage 1

The potential of computers for increasing the control of organizations of society over
their members and for invading the privacy of those members has caused considerable con-
cern. L

The privacy issue has been raised most urgently with respect to the creati‘on and mainte-
nance of data files that assemble information about persons from a multitude of sources. Files
of this kind would be highly valuable for many kinds of economic and social research, but
they are bought at too high a price if they endanger human freedom or seriously enhance the
opportunities of blackmailers. While such dangers should not be ignored, it should be noted
that the lack of comprehensive data files has never before been the limiting barrier to the sup-
pression of human freedom.

Making the computer the villain in the invasion of privacy or encroachment on civil lib-
erties simply diverts attention from the real dangers. Computer data banks can and must be
given the highest degree of protection from abuse. But we must be careful, also, that we do
not employ such crude methods of protection as to deprive our society of important data it
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needs to understand its own social processes and to analyse its problems.

Perhaps the most important question of all about the computer is what it has done and
will do to man’s view of himself and his place in the universe. The most heated attacks on the
computer are not focused on its possible economic effects, its presumed destruction of job sat-
isfaction, or its threat to privacy and liberty, but upon the claim that it causes people to be
viewed, and to view themselves, as machines.

What the computer and the progress in artificial intelligence challenge is an ethic that
rests on man’s apartness from the rest of nature. An alternative ethic, of course, views man as
a part of nature, governed by natural law, subject to the forces of gravity and the demands of
his body. The debate about artificial intelligence and the simulation of man’s thinking is, in
considerable part, a confrontation of these two views of man’s place in the universe.

51. Why is it important to prevent the abuse of computer data banks ?
\A. To protect the rights of the individual.

B. To maintain discipline in society.

C. To encourage economic and social research.

D. To collect wide—ranging information.

52. Too much caution in the use of computers will

A. prevent the solution of economic problems

B. cause more suppression of human freedom

C. lead to clumsy methods of protection

D. interfere with our study of society
53. What lessons can be learned from the past in this debate ?

A. Crime has always been associated with progress.

B. Attacks on freedom are nothing new.

C. The accumulation of data encourages oppression.

D. Privacy has been a neglected issue.
54. The arrival of the computer has made man

A. have more difficulty understanding himself

B. think more like a machine

C. look at himself in a different way

D. gain less satisfaction from his work
55. If you had to split this passage into two sections where would be the best place to

make the division ?

A. After the first paragraph.

B. After the second paragraph.

C. After the third paragraph.

D. After the fourth paragraph.



Passage 2

Insurance is the sharing of risks. Nearly everyone is exposed to risk of some sort. The
house owner, for example, knows that his property can be damaged by fire; the shipowner
knows that his vessel may be lost at sea; the breadwinner knows that he may die at an early
age and leave his family the poorer. On the other hand, not every house is damaged by fire
nor every vessel lost at sea. If these persons each put a small sum into a pool, there will be
enough to meet the needs of the few who do suffer loss. In other words, the losses of the few
are met from the comtributions of the many. This is the basis of insurance. Those who pay the
contribution are known as “insured” and those who administer the pool of contributions as
“Insurers”.

Not all risks lend themselves to being covered by insurance. Broadly speaking, the ordi-
nary risks of business and speculation can not be covered. The risk that buyers will not buy
goods at the prices offered is not of a kind that can be statistically estimated — and risks can
only be insured against if they can be so estimated.

The legal basis of all insurance is the “policy”. This is a printed form of contract on stout
paper of the best quality. It states that in return for the payment by the insured of a named
sum of money, called the “premium”, which is usually paid every year, the insurer will pay a
sum of moﬁey or compensation for loss if the risk or event insured against actually happens.
The wording of policies, particularly in marine insurance, often seems very old—fashioned, but
there is a sound reason for this. Over a large number of years many law cases have been
brought to clear up the meanings of doubtful phrases in policies. The law courts, in their
judgment, have given these phrases a definite and indisputable meaning, and to avoid future
disputes the phrases have continued to be used in policies even when they have passed out of
normal use in speech.

56. According to this passage, insurance is possible because

A. everyone at some time suffers loss
B. only a small proportion of the insured suffer loss
C. nearly everyone suffers loss
D. only insured people suffer loss
57. By “the pool of contributions” in the first paragraph, the writer means
A. money paid by the insured
B. money paid by the insurers
C. the cost of administering insurance

D. the amount of each premium
58. The insurance of ordinary business risks is not possible because
A. businessmen will not buy insurance
B. the risks are too high
C. the risks can not be estimated




D. the premiums would be too high
59. OCld—fashioned wording is sometimes used in insurance policies because
A. insurance is old—tfashioned T
B. insurance has existed for a long time
C. it enables ordinary people to understand it
D. the meaning of such wording has been agreed upon
60. The writer of this passage seems to think that insurance is
A. aform of gambling -
B. a way of making money quickly
C. old—fashioned

_D. useful and necessary
Passage 3

Some people are accustomed to think that facts must either be believed or disbelieved —
as if belief were like a light switch with only two positions. My use of the bathtub hoax is in-
tended to illustrate that belief does not have to operate as a simple yes or no choice, all or
nothing. Belief can be more conditional; it can be something that we decide to have “up to a
point” or “to a degree.” And so, the question we might ask ourselves while reading does not
have to be “Should I believe it or not ?” but instead can be “How much should I believe it ?”
This implies that the belief we have in any given fact, or in any given idea, is not determined
by whether it sounds right or whether the source is an authority. It means that our beliefs are
determined by the reasons that justify them. Belief is not a mechanical action, brought about
by invariable rules or nature, but a human activity, the exercise of judgment. With this in
mind, we might say that we perform this action better when we know what the reasons are
that have led to our belief, and why they are good reasons. A

These observations do not deprive us of our ability to believe in what we read. They are
not intended to transform you from credulous believers into stubborn. doubters. The process
of weighing beliefs against the quality of reasons is one that you already go through all the
time, whether you are aware of it or not. We all do. The practice of critical reading is the exer-
cise of this kind of judgment on purpose. By doing it, we protect ourselves from being led into
belief for inadequate reasons, but at the sare time we open up our minds to the possibility of
arriving at belief for adequate ones. If we decide to grant or withhold consent based on the
quality of the reasons that we are given, we admit at the same time that two things are possi-
ble: We admit that we might consent less in the future if we discover that the reasons are not
so good after all; and we admit that we might consent more if we are ever presented with bet-
ter reasons than we had formerly known. This attitude is not pure skepticism any more than it
is pure credulity. It is somewhere in between. It is the attitude of an open—minded thinker, of
someone who wishes to be responsible for deciding for herself or himself what to believe.

61. Which question is not encouraged to be asked while you are reading ?



A. Should T agree with the author ?
B. To what extent should I believe it 7
C. Why should I consent to it ?
D. What makes it sound and reasonable ?
62. To believe or disbelieve what you read should be tased on
A. the facts that you are given o
B. whether the author is open—minded or not
C. the quality of reasons provided by the material \ -
D. the assumption that you know everything about it
63. As a human activity, weighing the facts about something is actually .
A. determined by the rules of nature o
B. a purposeful performance
C. brought about even at birth
D. experienced by everybody
64. According to the author, which of the following statements is true?
A. Our attitude toward what we read may change if we are given more reasons.
B. An open—minded thinker is responsible for what he says.
C. Critical reading can make us believe more in what we read.
D. We ought to question the value of what we read if its source is not authoritative.
65. What is the topic of this passage ?
A. Judgment and responsibility.
B. Reading and belief.
C. Distrust and faith.
D. Reading and human activity.

Passage 4

Opinion polls are now beginning to show an unwilling general agreement that, whoever is
to blame and whatever happens from now on, high unemployment is probably here to stay.
This means we shall have to find ways of sharing the available employment more widely.

But we need to go further. We must ask some fundamental questions about the future of
work. Should we continue to treat employment as the norm ? Should we not rather encourage
many other ways for self-respecting people to work ? Should we not create conditions in
which many of us can work for ourselves, rather than for an employer ? Should we not aim to
bring back to life the household and the neighborhood, as well as the factory and the office, as
centers of production and work ?

The industrial age has been the only period of human history in which most people’s
work has taken the form of jobs. The industrial age may now be coming to an end, and some
of the changes in work patterns which it brought may have to be reversed. This scems a dis-
couraging thought. But, in fact, it could offer the prospect of a better future for work. Univer-

s L i b B e A Wb s ¢
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sal employment, as its history shows, has not meant economic freedom.

Employment became widespread when the enclosures of the 17th and 18th centuries
made many people dependent on paid work by depriving them of the use of the land, and thus
of the means to provide a living for themselves. Then the factory system destroyed the cottage
industries and removed work from people’s homes. Later, as transport improved, first by rail
and then by road, people traveled longer distances to their places of employment until, even-
tually, many people’ s work lost all connection with their home lives and the places in which
they lived.

Meanwhile, employment put women at a disadvantage. It became customary for the
husband to go out to paid employment, leaving the unpaid work of the home and family to
his wife.

All this may now have to change. The time has certainly come to switch some effort and
resources away from the impractical goal of creating jobs for all, to the urgent practical task
of helping many people to manage without full-time jobs.

66. What idea did the author derive from the recent opinion polls ?

A. Available employment should be restricted to a small percentage of the popula-
tion.
B. New jobs must be created in order to rectify high unemployment figures.
C. Jobs available must be distributed among more people.
D. The present high unemployment figures are a fact of life.
67. The passage suggests that we should now re—examine our thinking about work and
A. be prepared to admit that being employed is not the only kind of work
B. create more factories in order to increase our productivity
C. set up smaller private enterprises so that we in turn can employ others
D. be prepared to fill in time by taking up housework
68. The passage tells us that the arrival of the industrial age meant that
A. universal employment guaranteed prosperity
B. economic freedom came within everyone’s reach
C. patterns of work were fundamentally changed
D. to survive, everyone had to find a job /
69. As a result of the enclosures of the 17th and 18th centuries
A. people were no longer legally entitled to own land
B. people were forced to look elsewhere for means of supporting themselves
C. people were not adequately compensated for the loss of their land
D. people were badly paid for the work they managed to find
70. It can be inferred from the passage that
A. the creation of jobs for all is an impossibility
B. we must make every effort to solve the problem of unemployment
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C. people should start to support themselves by learning a practical skill
D. we should help people to get full-time jobs.

Part [V English—Chinese Translation

Directions:
Read the following passage carefully and then translate the underlined sentences into
Chinese. (15 points)

(71) / Whatever may be said against mass circulation magazines and newspapers, it can
hardly be argued that they are out of touch with their readers’ daydreams, and therefore the

inducements they hold out to them must be a near accurate reflection of their unfulfilled

wants and aspirations. / / (72) Study these and you will assuredly understand a good deal of

what it is that makes society tick. /
Lookm g back, for example, to the twenties and thirties, / (73) we can seethat circulation

managers unerringly diagnosed the twin obsessions —economic insecurity and a passionate
concern for the next generation. / (74) / Thus it was that readers were recruied with offers of

free insurance policies for the one, and free instant education for the other. / The family
whose breadwinner lost an eye in a double railway derailment, or an arm in a flood, could
confidently expect to collect several hundred pounds from the Daily This or the Evening
That. The family who could not afford to send their son to grammar school could find conso-
lation in equipping him with the complete works of Shakespeare in one magnificent, easy to

read volume.
After the war the need to fall into step with the new consumer society was soon realized.
(75) / If you were flanked by neighbors who, unlike you, could afford a holiday abroad, then

winning an easy competition could set you up with a fortnight in an exotic sunspot./
Dishwashers, washing machines and deep—fat—friers were — and still are — available by the

same means.
Part V. Writing (15 points)

Directions:
A. Title: Science and Life
B. Time limit: 40 minutes
C. Word limit: 120—150 words (not including the given opening sentence)
D. Your composition should be based on the outline below and should start with the
given opening sentences: Science has affectd our lives directly=«-
E. Your composition must be written clearly on the ANSWER SHEET.
Outline:
1. Science has improved our lives
2. The unfavorable effect

et o we S RN G RRATIE  F
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3. How to make science serve us better

Answer Key
1. A 2. C 3.A 4. C 5.D 6. C 7. C 8. C 9.B 10. D
1.B 122B 13.C 14B 15sB 16D 17.D 18 A 19.C 2.D
2.C 222D 23.C 24 A 25 A 26A 27.D 28.B-29.D 30.8B
31.C 32.A 33.D 34 A 35 C 36.C 37.C 38 B 39.D 40 A
41. A 42. D 43 A 4. C 45 C 46.B 47.D 48 B 49.C 50.C
5. A 52.D 53.B 54.C 5.C 5.B 57.A 58.C 59.D 60 D
6. A 62.C 63.D 64 A 65B 66.C 67.A 68.C 69.B 70 A

71 RWEATBAT2AKBRABRATHMP], BA TR d R IE B R T A 1
BEATIKR, B, SO RIA SR BRI EJLF 0 SR T XS R
LB,

72 WURBHIR T XEER, REEXPARSRTERIT AGRRAEX T,

73 F 1T AR B FIRAT 0 AT TR S T AR S A O B A A R — 0k
TR BER N — AR BT AR

74 [HE. EREFRE gl AR AR AR RIS RE, RRE T AR
AR G B BB R RIE

75 RGBS HERR, wiTkeTIEAER, BAE—DRFAYRAZFE T
ﬁ%ﬂﬂu%&%%ﬂﬁﬁﬁ@%ﬁﬁﬂ%%ﬁ%ﬁ%%ﬁ~¢%%%ﬁﬁo

fE3dEs:

Science and Life

Science has affected our lives directly. A case in point is the domestic electrical
equipment, such as radios, TV sets, iceboxes, and washing machines, etc. With these appli-
ances at home, we live more comfortably. Another case is the plane. We can fly to other cities
in a short time and it makes our journey pleasant. In a word, science has greatly improved our
lives and made our lives much easier and happier.

On the other hand, science has an unfavorable effect on us. For example, an atomic
bomb can kill thousands of thousands of people in a split second. Computers make students
lazy and their brains poorly—developed. In addition, the air pollution produced by cars and
factories has already done a great deal of harm to us.

However, science itself is not harmful, and the important thing is how we use it. In my
opinion, we should make use of it for peaceful purposes, such as atomic power stations in-
stead of dreadful weapons; moreover, we should, with the help of science, turn out
pollution—free automobiles and so on. Only by this way, can we make it serve us better.



